No.2

Td kN/ 240.0
I 1
l: m 3.50
m 0.41 1.75
I 2n 4
l2 m 3.50
m 1.75 1.75
h>=b mm 500 < 500
d mm 410
) N/mm 2 18
Ec kN/mm? 22.0
Ty N/mm 2 345
Es kN/mm? 200
T uyk N/mm 2 345
k1 1.00
k2 0.90
£ s 150><10"°
Oa N/mm 2 120




Ye 1.30 1.00

Y's 1.00

1.15

1.30
Yo 1.10 1.00

1.30
Ya 1.00 1.00
V2 1.20 1.00
Vi 1.20 1.00
Mg kKN m 75.65 63.04
Va kN 106.88 89.07

(mm)
D19 D16| 400 0.00559 0.71 188.61 0.68 0.86 -0.47 | OK

0.01372 1.00 733.27 1.00 1.00 1.00




)




Td = 240.0 (kN )

I
O O ’
NI N
1 = 1
| = 3.50 (m)
| = 0.41 (m)
1 = 1.75  (m)
| = 4
| = 3.50 (m)
1 = 1.75  (m)
1 = 1.75  (m)
b = 500 (mm)
h = 500 (mm)

d = 410 (mm)



qg = 600 (kN/m?)
3.50 (m)
3.50 (m)
0.500 (m)

O- — —
oo

Q)
b (1 I b)
0.500><( 3.50 3.50 0.500)
3.25 (m?)
Td _ 240.0
A T 3.25

74 (KN/m2) 600 (kN/m2) 0K



I 1
0.41  3.50 < 1 1.75
1 1
2.83  (m)
= 3.50 (m)
) Td ) 240.0
= I b = 2.83 3.50

0.500 = 41.17

(kN/m)



€Y

[ T | |

R R S S S A

Mmax Smax

Mmax

{C1 1) .} {C1

1
[ee]
=

1
= gx 3.50 < AL.17=<{( 3.50 1.75)  0.41 }

=<{( 3.50 1.75)  0.41 }
33.31 (kN m)

Mmax s |1

I
P I\D‘H
=

5 < 41.17% 1.75

63.04 (KN m)

if‘é‘r" w1 1 11 )

Smax s

1
= 5 x3.50 < 41.17><( 3.50 1.75  0.41 )

89.07  (kN)

Smax s -=

|
=

|1
41.17><1.75
72.05 (kN)

Mmax 63.04 (kN m)

89.07  (kN)

Smax



Mmax

Mmax a

Smax

Smax a

Mmax

©

1
9

w |

Smax

1
9 < 41.17x 3.50

56.04 (kN m)
1
oW | 2
1
5 > 41.17> 1.75
63.04 (kN m)
©
3
5 W I
5 X< 41.17>=<3.50
86.46 (kN)
w | 2
41.17>=<1.75
72.05 (kN)
Mmax
Smax

63.04
86.46

(kN m)
(kN)



Mmax 63.04 (kN m)

89.07 (kN)

Smax
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@
b = 500 (mm)
h = 500 (mm)
d = 410 (mm)
« ) D1 = 140  (mm)
( ) o = 18 (N/mm?)
Ec = 22.0 (KN/mm?)
) ( )
SD345 D19
@ = 19 (mm)
n = 4 ()
As = 1146.0 (mm?)
fw = 345 (N/mm2)
Es = 200 (KN/mm?)
®
SD345 D16
@ = 16 (mm)
Nw = 2 ( )
S = 400 (mm)
S Av = 397.2 (mm?)
fux = 345 (N/mm2)
©)
| = 366 (mm)
c =h @ D)
= 81 (mm)
_ 1 o
( ) Cs = n1
= 116 (mm)
( a = Cs @
)

97 (mm)
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Y Y's Yb Ya \4i Yi
1.15
1.30

1.30 1.00 1.00 1.20 1.20
1.10
1.30

1.00 1.00 1.00 1.00 1.00
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<y't)
M 75.65 (KN m)
> 1.20 Ve 106.88  (kN)
M 63.04 (kN m)
> 1.00 v 89.07 (kN)
Ya
M 75.65 (KN m)
1.00 Va 106.88  (kN)
M 63.04 (kN m)
1.00 Va 89.07 (KN)




€Y

75

o = 0.88 0.004 f'« = 0.88 0.004x<18
= 0.81 (o 0.68) ©=0.68
ez 185 fa 155 18
“ 7 30000 " 30000
= 0.0046 (0.0025 £"c 0.0035) £"w=0.0035
f'ck 18
fro = = = 13.85 (N/mm?
Ty 1.30 (/)
fyk 345
f = = = 345 N/mm?
Ty 1.00 (/)
p
As 1146.0
P = b d T 500 < 410
= 0.00559
Pb
- o Ea e
pb - fyd fyd
Ew
Es
i 13.
Co.68 = 0.0035 . 1385
0.0035 ——® 345
) 200 =<10°
= 0.01829
p = 0.00559 0.75 p» = 0.01372

. OK
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@
E,cu kl’f’cd
N =0
X Bx St |1~ {55 55
<
d - - - - — - Ff A7l
O 0O O © w— 5 |
B = 0.52 80 &="w =0.52 80> 0.0035
= 0.8
ki =1 0.003 f"« =1 0.003x<18
=09 (k 0.85) ki =0.85
B 0.8
k. = = = 4
X 2 ’ ) 0
My
K2 P fyd
Mu = b d2 f 1
P Tw ( B ki fro )
2 0.4 0.00559 =345
= 500 >< 410 ><0.00559>< 345><(1
( 0.8 <0.85 13.85 )
= 148.82 =<10° (N mm) = 148.82 (kN m)
Mud
Mu 148.82
Mw = =
Vb 1.15
= 129.41 (kN m)
©)
Mad 75.65
i = 1.20 < —__ = .71 1. K
Y M ud 0 129.41 0 00 0



€Y

fus = 0.20 | f'w = 0.20= ./ 13.85
= 0.48 (N/mm?) (fued 0.72)
Ba = /1000 /d = /10007 410
= 1.25 (B¢ 1.5)
B, = /100 p = /100 = 0.00559
= 0.82 (B» 1.5)
Bn = 1.00
Vcd
Bd Bp Bn fvcd b d
Vcd -
Yb
_1.25>0.82>1.00> 0.48 > 500 =< 410
- 1.30
= 77.58 <10° (N) = 77.58  (kN)
)
gL Fw 345
"y T 1.00
= 345 (N/mm2)
, . _d 410
©1.15 1.15
= 356.5 (mm)
Vsd
Ve = Aw fwyd V4
S \V4)
_ 397.2345  356.5
- 400 1.10

111.03 =<10° (N) = 111.03 (kN)
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®3)
Vyd
Vy = Ve Vs =  77.58 111.03
= 188.61 (kN)
“
fued = 1.25 e = 1.25x% / 13.85
= 4.65 (N\/mm?) (fua  9.8)
Vwcd
v _ fuweda b d _ 4.65>< 500> 410
T v ) 1.30
= 733.27 <10° (N) = 733.27 (kN)
Vyd = 188.61 Viwed = 733.27
. 0K
®)
Vv 106.88
Vi S 2 120 — > = 0.68 1.00 0K

Vyd 188.61
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€))
Wa
c =81 mm
wa = 0.0050 c¢ = 0.0050 >< 81
= 0.405 (mm)
@
0
p = 0.00559
. Es 200
n = =
Ec 22.0
= 9.09
k =/J2 n" p (n" p)? n" p
= /2> 9.09 =<0.00559 ( 9.09>=0.00559) 2 9.09 ><0.00559
= 0.272
k 0.272
J = 1 — = 1
3 3
= 0.909
Ose
M .04 =<10°
O = d - 63.04 >10 = 147.60 (N/mm?)

As j d 1146.0 ><0.909 =< 410
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€))
ki = 1.00
k. = 0.90
(. -5 (2
N =1 T 7 N 8
€& = 150 <10°°
w
Ose
w = 1.1 ki1 ke ks {4 ¢ 0.7 (cs )}( c E&E )
147.60
= 1. . . . 1 7 11 1 )
1.1><1.00>=<0.90><1.0=<{4>< 81 0.7><(116 19 )}><( 200%10°
= 0.345 (mm)
©)
w 0.345
i = 1.00 < — —— = 0.86 1.00 0K
Yioo. 0.405

150 ><107°)
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f "ck

18

Y

1.00

18.00 (N/mm?)

=0.20 /f'w =0.20 </ 18.00

= 1.25

= 0.82

= 1.00

Vcd

@
f'cd
fvcd
Ba
Bo
B
Vcd
Bd Bp Bn fvcd b d
Vcd -
Yb
_1.25>0.82>=<1.00><0.52> 500> 410
- 1.00
= 109.27=10° (N) = 109.27 (kN)
@
Vd
Vg = 89.07 (kN) 0.7 Ve =

76.49 (kN)

0.52 (N/mmz) (fvcd

70

0.72)
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®

*

O wpd

Vd
Oipd
(Vpd Vcd) S
Av 2z
( 89.07  109.27 )>=10° > 400
397.2 %< 356.5

-57.06  (N/mm?)

Oa = 120 N/mm?

-57.06
1. x ——— = -0.47
00 120 0

1.00

Va = 89.07 (kN)

356.5  (mm)

OK
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€Y

@

f* = 18.0  (N/mm?)

u = 230 (mm)

D1 = 140 (mm)

b = 500 (mm)

A = b2 = 5002 = 250000
p o= ouz TP L g

= 37506 (mm?)

O

A
(0.25 0.05 357 ) F

250000

(0.25 0.05% 37506 )> 18.0

10.49 (N/mm?)

50%

0.5 f* = 0.5%18.0 = 9.00 (N/mm?)

o)
= 9.00 (N/mm?)
Td _ 240.0<10°
Aa 37506
6.40 (N/mm2) o = 9.00 (N/mm2)

—

(mm?),

TT>< 1402

4

OK

]
..

\
7

-
~ —

-
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D19 - 4 (=19 (mm) )
c = 81 (mm)
( a = 97  (mm)
)
fya = 345 (N/mm2)
i = 18 (N/mm?)
Yce = 1.30
0.28 f '« 23 0.28 ><18 23
Fooa = =
Ye 1.30
= 1.479 (N/mm?) (Fooa 3.2)
D16 - 2
At = 397.2 (mm?)
S = 400 (mm)
c
97
c = min ( 81, ‘z;* ) = 49  (mm)
ke (@ ¢
Ko = C N 15 A
P s @
_ 49 . 15 =< 397.2
© 19 400 = 19
= 3.363
ke = 3.363 a = 0.6 Ke 1.0 o= 1.0
1.0 Kc 1.5 o= 0.9
1.5 Ke 2.0 a= 0.8
2.0 Kc 2.5 o= 0.7
2.5 Kc o = 0.6
la
lo = o fu @  0.6>=<345x19
¢ - 4 Food B 4 x<1.479
= 665 (mm)

665 mm



